


I. 

I . ~ -=- - 2/24 -=- - - - - - - - - - - - - 
2 

2· ( a+b ) CfiT mm ---------- 

3. 3/4xy 3!R0. 

-= - - - - - - - - ~ 95 -=- 0 4. 
o 

( 92 ) --g-s 

s. ~ ~ ~ cnTuil91l"lll<T ------------- 

~ ai<fi - 50 

10 

x Y, Z 

x = 3/4, Y = 7/2, Z = 4/8 

1. (x + y) + 7 = x + (y + z 

2. 

3. 

x X (y + z ) = (x X y 

):~ ~ J ~ = } I ~:=! 
X 911 lfR ~ C!1{r ? 

+ ( x X z ) 

5 x - 2 = 3 x -4 

4. mm ~ (2x + 3y)2 

5. 10I"1€10s C!1{r :- 
2 2 

x - 2xy + Y - 9 

3· 

aFT<: G) ~ A B 3!R C D ~ ~ CfiT 

o 1R 5lRl-.:.3G ~ ~ eft ~ Cfi\):- 

.L~ A 0 C 3!R L!. B 0 C 

10 



2 

WfTUT: - ~ (A 0) - - - - - - - -- - - - - ~t€rr A B afR CD' 0 ' lR SlRl -.:.{9G "9 

~~ 

~ CO) -=- - - - - - - - - - ~t€rr A B 3itt CD' 0' lR ~~ ~ ~l 

~ 0 C -=- - - - - - - - _ - -:' _ _ ~ ~ ~~ 

L\ A 0 C .6. BOD ~"9f.I~(l- - - - - - - - - - - - - - - - - 

-------------- ~ 



TEST PAPER - MATHS 
M.M.' 

I. Fill in the blanks:- 

P'Cl)ti ,,, 

i_$__ 

1 ) 

2 ) 

3 ) 

4 ) 

Find the reciprocal of - 2 
24 

2 Expand (a-b) 

Multiply 3 
4 

= ----------- 

XY & 0 = ------------ 10 

( ~~) 0 = ---------- when 95 * 0 
5) Sum of the measure of all the angles of a/~ 

is 

i) Substitute the value and verify 

ii) 

(X + Y) + Z = X + (Y+Z) 

X = 7 
2 

4 

8 
Y Z = 

X x (Y+Z) = (X x Y) + (X x Z) 30 

X = ~ Z = 5 "2 Y = 3/2 

iii) Find the value of X. 

iv) 

v) 

III. 

5 X - 2 = 3X - 4 
2 

Expand (2x+3Y) 

factorise completely 
2 2 X - 2XY+Y - 9 ~ 1.02 

Long answers. . A C,:?<o If the lines segment AB & CD 
bisect at 0 then prove that 
L':::. AOC &,6 BOD are congurent. 

Given =- ----------------- 
To Prove: ------------------ 
Proof : l(A~)=-----------(line AB & CD bisect at 0)-2 

1 (CO) = C.Jine AS R C;Q bisec+- c(j.. 0 J 
~OC = ----------------(Vertically oppositeLS 

AOC & BOD are congurent by ------- 

------------------------test. 
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